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General Instructions :

1. Candidate must write his/her Roll Number on the first page of the Question
Paper.

2. Please check the Question Paper to verify that the total pages and total
number of questions contained in the Question Paper are the same as those
printed on the top of the first page. Also check to see that the questions are
in sequential order.

3. Making any identification mark in the Answer-Book or writing Roll Number
anywhere other than the specified places will lead to disqualification of the
candidate.

4. Write your Question Paper Code No. 67/SS/A, Set [A] on the Answer-Book.

S. (a) The Question Paper is in English/Hindi medium only. However, if you
wish, you can answer in any one of the languages listed below :
English, Hindi, Urdu, Punjabi, Bengali, Tamil, Malayalam, Kannada, Telugu,
Marathi, Odia, Gujarati, Konkani, Manipuri, Assamese, Nepali, Kashmiri,
Sanskrit and Sindhi.

You are required to indicate the language you have chosen to answer in
the box provided in the Answer-Book.

(b) If you choose to write the answer in the language other than Hindi and
English, the responsibility for any errors/mistakes in understanding the
question will be yours only.
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INTRODUCTION TO LAW
I Teh G

(338)
Time : 3 Hours | [ Maximum Marks : 100
gu o 3 " | [ quifsh = 100
Note : (i) This question paper consists of 49 questions in all.

(i1)
(ii)
(iv)

v)

(vi)

All questions are compulsory.
Marks are given against each question.

Attempt all questions either from Optional Module-7A or Optional
Module-7B in all sections.

Section—A consists of

Q. Nos. 1 to 20—Multiple-choice questions (MCQs) carry 1 mark each.
Select and write the most appropriate option out of the four options
given in each of these questions. An internal choice has been provided
in some of these questions. You have to attempt only one of the given
choices in such questions.

Q. Nos. 21 to 35—Objective type questions carry 2 marks (with 2 sub-
parts of 1 mark each) and attempt these questions as per the
instructions given for each of the questions 21 to 385.

Section—B consists of

Q. Nos. 36 to 41—Very short answer-type questions carrying 2 marks
each to be answered in the range of 30 to 50 words.

Q. Nos. 42 to 46—Short answer-type questions carrying 4 marks each
to be answered in the range of 50 to 80 words.

Q. Nos. 47 to 49—Long answer-type questions carrying 6 marks each to
be answered in the range of 80 to 120 words.

™ -1 T FA 49 T B

aft g st 2

TRH T b 3 Wk WA feu M |

Jehfcreh ATS-7A J1¥aT 7B % @+t Y % IW <

Qus—<h

Yo Ho 1 ¥ 20 T dgfashedia Y F TS H1 1 37 2| TS T 7 fouw T ww
fyhedi & @ o8 T foben g7 fflaw) o9 sl § ardfe fasew foam mn R
T el B had Th 1 & IW o

Yo HWo 21 W 35 d%h B I 8| Th & 2 3% &l (1 37 It 2 UMW dfe) |
few . fFéargER s 3w fordl
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(vi) TUE-@
Yo Ho 36 H 41 T 3Afd g I TH &, TIH % 2 3% g, TIH & IH 30

¥ 50 W H G

Yo Ho 42 ¥ 46 Th &Y ITUT TH &, TIh o 4 37 &, T4 Hl W 50 § 80
gl § 3

Yo Ho 47 H 49 d% <" It UH &, IIH b 6 3P &, JIh &l W 80 ©
120 wisgi | <€)

( . . . . )
(1) Answers of all questions are to be given in the Answer-Book given to you.

af gl % IW IRl & T IW-Yfew H @ fod
(2) 15 minutes time has been allotted to read this question paper. The question
paper will be distributed at 2:15 p.m. From 2:15 p.m. to 2:30 p.m., the

students will read the question paper only and will not write any answer on
the Answer-Book during this period.

39 YH-TF hl Ugd & faw 15 fime &1 gag fear w21 weA-u @ faar que o
2:15 &9 foham SM@M| Qe 2:15 991 § 2:30 & deh B had Y-U i Tl 31
3 A & G I IW-YRAhH] W HIg I A& foram |

\. J
SECTION—A
Eus—<h
Choose the correct option : 1x20=20
wdl faehed gy -
1. Child marriage is a form of marriage where the bride has not attained the
age of
(A) 15 years (B) 16 years
(C) 17 years (D) 18 years
sTet foeme wh whR 1 W feg foeme @ few geed i 3y
(A) 15 ¥ 7 g & B) 16 ¥ 7 g &
(€ 17 9§ 7 g @ D) 18 o FEaA
Or / 31941

Under the Muslim Law, what is the minimum age to enter into a contract
of marriage?

(A) 15 years (B) 16 years
(C) 17 years (D) 18 years
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e A o 31=wia fehd freran 31y o1 goome foarg 1 Gfeer o wae X dehdt 87

(A) 15 a9 (B) 16 ¥
(C) 17 =d (D) 18 ¥

2. Which one of the following is not a source of the Muslim Law?
(A) The Quran (B) Sruti
(C) Sunna (D) Qiyas
ffefga o @ sH-w1 famey gftem S &1 @ T 27
(A) T (B) A
(C) g= (D) fepam

Or / 3Ydal

Under the Hindu Law, divorce is not permitted on the basis of
(A) adultery (B) insanity
(C) transfer (D) conversion
fog HFE % =i dh i fohE SMUR W Al A& B ?
(A) o (B) dWTerT=
(C) M= (D) & ufdH

3. Which one of the following is the correct expanded form of PIL?
(A) Public Interest Law (B) People Interest Law
(C) Public Information Law (D) Public Interest Litigation
ﬁﬂﬁf@ﬁﬁﬁﬁ?—@ﬁmﬁoﬁéoWoW@ﬁﬂﬂW%?
(A) Ul gt ot (B) YA st @A
(C) ufset ghiEIA oAt (D) Ul gt fafemem

Or / 3Ydal

Which one of the following is the correct expanded form of CPC?
(A) Civil Police Code (B) Civil Procedure Code
(C) Criminal Police Court (D) Criminal Procedure Code
ﬁmﬁmﬁﬁﬁ—mﬁmﬁoﬁoﬁowwwmé?
A) fafoa gfem e (B) fafaer wfior i
(C) Tfima gfera =ié (D) Trfmer TR +ig

4. Which one of the following is not a theory of punishment?
(A) Detterent theory (B) Persuation theory
(C) Preventive theory (D) Retributive theory
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frfafed § & SH-81 T Ue @ Mg T8 27

(A) T fagra (B) g fagr
(C) FruTers fagr (D) wfasrdt firgra
Or / 379dl

Which one of the following writs means ‘what is your authority’?

(A) Habeas corpus (B) Mandamus

(C) Prohibition (D) Quo warranto

frefafaa & @ feg fe o1 a1 8 ‘st arfrem w29

(A) =< SR (B) wRHTCH

(C) furew (D) IRrPR-g=sT yIew
5. Which one of the following issues is not of public interest?

(A) Pollution (B) Terrorism

(C) Imprisonment (D) Road safety

frefefiga 3 & - frwa/qeg S &1 @ 27

(A) 5™ (B) TdhelTe

(C) =pIE™E (D) #Hs= gian

6. In which year was the Right to Information Act enacted by the Government

of India?

(A) 2003 (B) 2004

(C) 2005 (D) 2006

YA TR g a1 &1 Afusr ifufm frg ad stfufrafia feam mm ene
(A) 2003 (B) 2004

(C) 2005 (D) 2006

7. Which one of the following is a false statement about Public Law?
(A) It deals with issues that affect an individual or the State itself.

(B) In Public Law, State is not only arbiter, but is also one of the parties
interested.

(C) Public Law is concerned with the structure of the Government.

(D) In Public Law, the State is present only as arbiter of the rights and
duties.
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frafafed & & -5 HUF FEAMAS HET b TR T TF T8 87

(A) I8 3 Yggl & IR § g1 & o ARk I¥er UsT H g9Iied w8l

(B) WESIeh HHT H TSI hadl HRY & T8 aar fug wh wid (&) oft &am 21

(C) NI HHT THR & g ¥ TrEfyd gl 2l

(D) HEAMH ST H T ARBR 3R Hdedi % HHRY o €7 § YT &l &
Or / FHYdl

A substantive law deals with

(A) the legal relationship between subject and the State

(B) the legal relationship between two individuals

(C) the relationship between two States

(D) the relationship between the Constitution and the State

T AR FEE H wEET P AT 7
(A) I IR T & 9 HEHA Gy
(B) & =afthal & s Hdl Few

(C) < T & i Sl ey

(D) wfoam 3R T & 9 gay

8. Which one of the following is not a substantive law?

(A) Penal Law (B) The Code of Civil Procedure
(C) Law of Contract (D) Law of Property
frefefea & @ ®F-a1 v sfuseh s T8 27
(A) Tus fafy (B) wishatens fafaet s
(C) wferar s (D) HHRT T

Or / 37947
Which one of the following is not a procedural law?
(A) The Indian Evidence Act (B) The Court Fees Act
(C) The Suits Valuation Act (D) The Specific Relief Act
frafefea & @ ®H-w1 FrE wheaes w7 T8 27
(A) WRAE ey AfafRm (B) =™ b ity
(C) dT6 Heared Ifaf=m (D) TomIw TR Afufem
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9. The correct expanded form of ADR is
(A) Advance Dispute Resolution
(B) Alternative Dispute Resolution
(C) Advance Direct Resolution

(D) Active Dispute Resolution

Toglo3TRo 1 TRl forqd &9 &7
(A) weEE fegme feiere
(B) Hieetifea feawe Aoy
(C) Tsa™ SEwR NSIeEH

(D) Ufdea feumpe Tt
Or / 37941

How many States of India are under the jurisdiction of Guwahati High
Court?
(A) Seven (B) Five
(C) Three (D) One
AR 3= AR % AAGR H YR & fhdd TsT 3 &7
(4) @ (B) i
(C) = (D) T

10. Which one of the following is not a technique of ADR?
(A) Arbitration (B) Lok Adalat
(C) Trial (D) Conciliation
frfefad & & ®H-tt Tolod o N dTohdler T8 27
INIREEIEE] (B) < 3TeTerd
(C) HeheHT (D) weey foarem

11. Who among the following assists to resolve a dispute in the process of
‘conciliation’?

(A) Lok Adalat (B) A third party

(C) Majistrate (D) Lawyer

ey faarm 6 afen § fafafed & @ 9 faae Tmam o ggEar s 27
(A) i TeTerd (B) 1§ e =Rk

(C) ARIEe (D) FhiA
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Or / HY4l

Who among the following assists to resolve a dispute in the process of
‘mediation’?

(A) District Court (B) An independent third person
(C) District Majistrate (D) Lok Adalat
‘e # Uik #§ fefafed § § @ foae wwEE § gERda s ¢
A) e = (B) I3 TWad dE =i
(©) foem wfoege (D) @ik e

12. Camps of Lok Adalat were initially started in
(A) Delhi (B) Punjab
(C) Bihar (D) Gujarat
U § e Heed % e fRE UsT H Y& TRy w97
(a) fegl (B) s
(C) femm (D) TSR

13. Which word from the following is not in the Preamble of the Indian
Constitution?
(A) Sovereign (B) National
(C) Secular (D) Republic
frafafad & @ -1 g AR dfau™ H T § T 2 9
(A) Y& qeE (B) W™
(C) ugfue (D) TvrEA

Or / 31947

When was the Constitution of India adopted by the Constituent Assembly?
(A) 26 November, 1949 (B) 26 January, 1950
(C) 26 November, 1950 (D) 26 January, 1949
glau™ diafd 5 "iaa™ H s IFeR fomm ar?
(A) 26 I, 1949 (B) 26 SHadl, 1950
(C) 26 o=, 1950 (D) 26 I, 1949
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14. The Preamble of the Constitution of India is
(A) in the beginning of the Constitution
(B) in the end of the Constitution
(C) not given in the Constitution
(D) in the middle of the Constitution
A |faa™ hl J&areH
(A) Giaum & 9oy 8
(B) wfegm & 31 # &
(C) wfqum & & & T 2
(D) wfegm & 9eq o 8

Or / a1
Who among the following was the President of the Constituent Assembly?
(A) Dr. Rajendra Prasad (B) Dr. B. R. Ambedkar
(C) Mahatma Gandhi (D) Jawaharlal Nehru
ffeiea o & faum afufa 1 s1eae SF a1?
(A) o TSIg THTQ (B) fo sflo Mo IR
(C) wgTemn weft (D) SeTEETd &

15. How many Fundamental Rights are there in the Constitution of India at

present?

(A) Four (B) Five
(C) Six (D) Seven
gaAH H 9Rd % d@fage H fohad Hifess atfaer # 9

(4) = (B) ui
C) ®: (D) =ra

16. How many freedoms have been granted under the Right to Freedom?

(A) Five (B) Six
(C) Seven (D) Eight
WAl o Hifelsh ATUBR o IF=Id fehdd] Todaad YeH 6l T8 g7
() B) o

(C) W (D) 33
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17. What minimum age is required to be a member of the Rajya Sabha?

(A) 25 years (B) 28 years
(C) 30 years (D) 35 years
TSIGTT 1 TeE &4 % U =Fad 3y fhadht Bt =nfeu ?
(A) 25 a9 (B) 28 ¥
(C) 30 = (D) 35 a¥
18. Which one of the following States has the largest number of Vidhan Sabha
Members?
(A) Uttar Pradesh (B) West Bengal
(C) Tamil Nadu (D) Andhra Pradesh
faffaa 4 & fpa T 1 foum aw % Sewi I TE wEE SIUE 27
(A) I T (B) dfvam e
(C) dfirerrg (D) 3Ty Few
19. Which one of the following can be used by the Lok Sabha Members only?
(A) Adjournment Motion (B) Question Hour
(C) Calling Attention Motion (D) No Confidence Motion
frferfad & & fora T &1 YA Had AHEMT TG & KL Thd &7
(A) *=E Y& (B) =9 1A
(C) eaTTheur STl (D) AfeaTE S

20. How many judges including the chief justice are there in the Supreme Court
of India at present?

(A) 25 (B) 27
(C) 29 (D) 31
YR & Hare AEer § aduad § e =i o fiemnt g fean =i €7
(A) 25 (B) 27
(©) 29 (D) 31

21. Fill in the blanks correctly :
o TaHl 1 3 § Wi -
Under the Muslim Law, a husband may divorce his _ by repudiating
the marriage without giving any __ . 1+1=2

e HIE o 3T=amid T Ufd 0 I fem g S fyarg o wued wk
T ¢ Fehal &

338/5S/A/614 11 LNATE AR« .r.0.



Or / 3Yai

The Hindu Marriage Act and the Hindu Succession Act are the
two major enactments on the Hindu Law. 1+1=2

fog fomme atfufem _ qun feg STlveer sifufem _ Teg &M & Q1 w@
Ffufrm )

22. Match any two of the following correctly : 1x2=2

Column—A Column—B
(a) Indian Succession Act, 1925 () Hindu Marriage Act
(b) Sapinda (ii) Christians
(c) Qiyas (iii) Source of Muslim Law

(d) Intestate Succession (iv) Hindu Law

frafafed & @ 6l @ &1 @& fem Hifvg

HiTH—A HicH—B
() 9 Iaufer sifufrem, 1925 () fag foeme stfufem
(b) @fie (i) ST
(c) Trama (i) GTH HIIT B G
(d) TreaeEa STkeer (v) Teg wr@

23. Write True or False correctly (any two) : 1x2=2
(a¢) Judges can make any new law.
(b) Administration has been defined as the exercise of political powers.
(c) According to the Constitution, India is a capitalist State.
(d) Private law governs the relations of citizens with each other.
freel @ oAl o TR H T YA ‘@’ forew
(%) =AETET BIE T HELT S Fhd 7
(@) REH 1 TSHifde el & S & &9 § gRefya feen w2l
() HiGgH % FER, TG Th S <w Rl
(o) oot rE, TRl % Th-gE % Gy gl Sl wfid S R

24. Fill in the blanks correctly :
s T #1 dfe ¥ Wi

Criminal law is the body of that relates to . 1+1=2
IO HMF, _ wIFgg @ R S @ gwfRE R

338/SS/A/614 12 AR




25.

26.

27.

Or / HYal

Administrative law is created by agencies in the form of regulations
and . 1+1=2

TRITE T I oIt A fafrm 3R % ¥ ° fffa fen 21

Write True or False correctly (any two) : 1x2=2
(a) A right of appeal is a substantive law.
(b) The substantial law lays down the rules which help to enforce laws.

(c) The law of procedure may be defined as that branch of law which
governs the process of litigation.

(d) Procedural law includes all legal proceedings, civil or criminal.
fafafiga waE & IR 4 ‘9@ Er EE fad (FE @A)

() it 1 Afpr IfrEER A R

(@) et wrm W frm s @ ekl ggrar @ srg o fen S 2

(71) WfshATT I I HMI H 30 A@T & &4 H qRaNd fhan S depar & S
geheHaTl 1 ufshan 1 fFafa o 21

(a) wiskareres ®HA § wft S wriatfear, fafaw sryar smoafyes, wive gt 21

Write True or False correctly : 1+1=2

(a) The distinction between substantial law and procedural law is real
and factual.

(b) Substantive law is a statutory law that defines the crime or wrong and
their remedies.

FrefciRea oAl % IR § 9 YT I fafen
(%) ARWRA 3R Ufharcas T & i F<R q2ATHS R aRdfas g 2l

(@) TSR ST gifgenfie HE 8 S 3T 3ET Told SR g 36 ITER TR
EXGI

Write True or False correctly (any two) : 1x2=2
(a) Lok Adalat is the most popular technique of ADR.

(b) Lok Adalats have no legal status.

(c) Decisions of the Lok Adalat cannot be challenged in any court.

(d) Lok Adalats provide quick and economic justice.

338/5S/A/614 13 LNATE AR« .r.0.



frfafgd & fordl @ ®eAl & IR 4 ‘T’ reEn ‘IEa’ fafau -
(%) ieh JCTeTd Sehfcteh feaTe HHIUM (Tod 0310 ) o1 Tl TAIh T dshleh 2|
(@) ©ih 3fererd HI HiE B efEd T R
() Ak g o R @ feRet off steerd § ST 9@ @ S "eRd! B
(") i e dig 3R g = YeH w3l
28. Write True or False correctly (any two) : 1x2=2

(a) There is no difference between the Legal Rights and the Fundamental
Rights.

(b) The Supreme Court and the High Courts have been given power to
enforce the Fundamental Rights.

(c) The Parliament has the right to amend the Fundamental Rights as per
the Judgement of Keshvananda Bharati Case.

(d) The 42nd Amendment asserted the right of the Parliament to amend
the Fundamental Rights.

frefaRea o fordl @ odl & SR 4 T r¥ar ‘I’ fofew -
(%) PrEh SR i A SR F 9w e Tl 3
(@) gaf= e 3R 3= A $ difds ARSR an w6 9k @ T )
(TT)  HIEFE ARl HH o FTHR TEG b1 Hifetsh ISR & HMe HH 61 ARBR 2|
(") 424 Gfau™ Fenega 3 HifeTs AR 1 GINTUd o & H§G¢ % AUHR W AR

feam 21
29. Fill in the blanks correctly (any one) : 2
(@) 1t is the duty of every citizen to abide by the and respect its
(b) The Fundamental Rights have force behind them and have

sanction of public opinion.
o Tl 1 3 8 Wi (FE )
(F) TIAF AMNFH FIIE hacd e fh a8 HIUCH R M SHH Rl AT R
(@) Hifer sAfrpi & W8 b1 vl &t 8 3R o e S 6T W gl 2l

Fill in the blanks correctly : 1+1=2
fp Tl W e @ wiw

30. Members of the Lok Sabha form a part of electoral to elect the
of India.

R o % gAE & foru ArRaw & TeE ghE % TH WA B B

338/5S/A/614 14 AR



31.

32.

33.

34.

Or / HY4l

Members of the Vidhan Parishad are elected by the Vidhan
Sabha for a term of 6 years. 1+1=2

faam % "el | fqumewn % T 98 & fou faifaa wa #

The Judges of the Supreme Court of India can be from office through
the process of . 1+1=2

AT o R o R ol 396 9¢ § &) UfshaT & A=W 9
ST gehdT 2l

The system adopted in India is based on of the courts. 1+1=2

qRd § AR T AT AT ol il Dt ]

‘Judicial activism’ is a term for the role of in initiating the policies
to dispense on its own. 1+1=2

“fies Alshaar wsgEe 1 FAT g Aifeal & Feh Y& W hI e
% fou fopen Smar 2

OPTIONAL MODULE—7A
Jehicush AgI—T7A
Fill in the blanks correctly :

foh Tl W Sl | wiw

After Gas Disaster in 1984, there was a growth of activism,
which led to reinterpretation of existing laws and legislations. 1+1=2

1984 9 A 6 TG Tfshad 4 Ifg g3 e Sam gl i gHete
1 AR R R

Or / 374l

The Electricity Act of 2003 has tried to ensure better development in the
sector and also emphasize the use of energy. 1+1=2

e (faoreft) sifufem, 2003 &7 4 dg Ty ghftaa 0 &1 W=
foram afi Hat W wA W g fe)

338/5S/A/614 15 LNATE AR« .r.0.



35. Match any two of the following correctly : 1x2=2

Column—A Column—B
(a) Kyoto Protocol (i) Protection of ozone layer
(b) Vienna Convention () 2010
(c) The Environment (i) 1981
Protection Act
(d) The National Green (iv) Emission of greenhouse gases
Tribunal
frfafga &1 @& frem Sifve (@) -
HITH—A HicTH—B
(@) FRE TEhA (i) IS 9 H F=EET
(b) T wem (i) 2010
(c) vRATeRl wXe ffEm (iii) 1981
(d) e i fesma (iv) TR TGl H1 IHH

OPTIONAL MODULE—7B

Jehicash AiggA—7B
34. Write the correct expansion of the following (any two) : 1x2=2
(@) CCI (b) MRTP
(c) NCDRC (d) CPA
frafafaa & @ fhdl @ &1 &8 fowga w9 fafau
(%) Hiottoaso (@) THoIMRodloWlo
(T[) Q?oﬁo@[o(}]’l’{o?ﬂo (‘6[) Fﬁotﬁo({o
35. Write True or False correctly : 1+1=2

() The main aim of consumer activism is that State should protect the
interests of the consumers against unfair trade practices.

(b) Redressal means a remedy to a consumer.

338/5S/A/614 16 AR



flcTRad oMl % 91 § 8l YA e ey

() IUVIET FRHIAT H1 &I 3L & 6 U9+ Igfud sReR Jagil & foeg
JUMIRRIA o f&ai hl & e =)

(@) framor =1 31 2 Iudiel & foiw ST Yed |

SECTION—B
Qug-«

36. Explain the meaning of ‘personal law’. 2
ot w1 3 T Aif
Or / 37941
Explain the ‘hybrid legal system’.
‘fufta I SR 6t smen fifg

37. Explain the meaning of ‘drafting’. 2
gEae’ w1 3 WY iU
Or / 31947
Explain the term ‘pleading’.
‘i’ i = Hif

38. Explain the term ‘Actus Reus’. 2
‘Trem g W 7Y Ty FHifv
Or / 3FYar

Explain ‘intoxication’ as a defense in criminal law.

I M H 9 I AfeRem & €94 H Ty Hifg|

39. Explain the meaning of ‘procedural law’. 2
WishaTeeh HFT % 7Y H T R
Or / 3¥a1

Explain the meaning of ‘administrative law’.

Yot w31 S T Hif|

338/5S/A/614 17 LNATE AR« .r.0.



40.

41.

41.

42,

43.

44,

338/5S/A/614 18 AR

Explain the Fundamental Right the ‘Right against Exploitation’.

oo & faeg Sifser’ difers atfrem &t =men Hifv
Or / a1
Explain the purpose of the Directive Principles of State Policy.

Tg & ifd frcwes fagra &1 3eva wm il

OPTIONAL MODULE—7A
Jehicash AigI—T7A

Explain any two provisions of the Stockholm Declaration, 1972

WEhEM 3NN, 1972 o ol &1 WEagMi i A& Hiv|

OPTIONAL MODULE—7B
Jehicdsh AigIA—T7B
Explain the meaning of the term ‘Consumer Redressal’.

IR Ao’ ue w1 Y wE fifsu

Describe any four essentials of a valid marriage under the Muslim Law.
e &M & 3=rid U 9y faarg & Tl wr sifardaret &1 avla i)
Or / 37941

Describe any four essentials of a valid marriage under the Hindu Laws.

fog #F % =i T 9 faarg 1 R W SRt w1 e i)

Analyze the ‘Reformative theory’ of punishment.
T0E & U Hg w1 fawewer Hig|

Or / 379dT
Analyze the ‘Retributive theory’ of punishment.

e & fasrl fagra’ &1 favermor Shifsm)

Evaluate the predominance of the Union Law and limitations of the State
Legislatures.

e I 1 oTfue o TSy g fftfa dmmegaren w1 Stehed Hifa



45.

46.

46.

47.

Or / FYdar

Analyze any two theories of punishment. 2x2=4

qug o Tl @t fagmar @1 fageivor Hifdw)

Analyze the Directive Principles of State Policy as an instrument to achieve
social and economic welfare of the people. 4

AN o GRS 37 3T hoATor Sl UTH S & Teh T8 & &9 §, TsF & Hifd ez
Tl =1 fagemor Hifsw)

Or / HY4l

Analyze the importance of the Fundamental Duties added in the
Constitution of India in 1976.

1976 H WG & Higu™ # e 7T AifeTsh Sdsdi & Hew 1 favamu Hifsu)

OPTIONAL MODULE—7A
Jehicush AlgI—T7A

Highlight any four powers of the National Green Tribunal. 4
e WA freme & fordl am wife & 39mr Hifsw

OPTIONAL MODULE—7B
Jhicush AlgIA—T7B

Analyze any four unfair trade practices. 4
frel wR 3gfea SRER =EERi o1 favemu i)
Explain the meaning of ‘Plea Bargaining’ and any two types of it. 2+4=6
it AU ® 3Y TH 3Hh HIs @ YHR T HIf|

Or / FYal

Explain any three main provisions of the Legal Services Authorities
(Amendment) Act, 1994. 2x3=6

faferes Tamd wifeesor (wenifea) srfafem, 1994 & =l M yg@ YauE 6 = men
CAE

338/5S/A/614 19 LNATE AR« .r.0.



48. Assess the importance of the Fundamental Rights included in the
Constitution of India. 6

T o GU™ § Yed AT IRl & Hgw 1 3ATheld shifog|
Or / FYai

Assess the role of the Preamble in the working of the Constitution.

Tfgam 1 HRIUTEN § TS 6 e BT 3o hifv|

OPTIONAL MODULE—7A
Jehicush AlgTA—T7A
49. Analyze any three reasons for the need of sustainable development. 2x3=6
Yo faemd &1 aweshdl o fohmal @i Sron @1 favewor Hifm)

Or / FYdal

Highlight any two examples of leading judgements to protect the
environment. 3x2=6

‘Gafater & WU % U ¥ el @ =nfes ol % Seer s9mr Hifsm

OPTIONAL MODULE—7B
Jehicash AigdA—7B

49. Analyze any two redressal provisions against the unfair trade practices. 6
Ifad FRER el & fovg famo & 5l @ wagmi &1 favemo Hifsw)
Or / 37941
Assess the impact of consumer movement in India.

AR | IUHRT ATl & J9TE hl 3Teheld hifog|

* ok ok

338/SS/A/614 [24V—900] 20 AR



